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N OPT!ON-A _
. § Numerical Analysis )
: Paper MAT—RE-6016 :

1 Answer the followmg questlons : 1x10=10

:(a) Express the followmg system of -

€quation in' matrix form::

WWWW&WWW‘
WW’ _' A

"‘2x+3y Sz 6x 3y+4z—-5
Sx - y+11z 7

(b) What is the 6th order dlfference of the
" 5th degree polynomial ?

-wmwmﬁm&wwwﬁfiav'

(c) What is the degree of the mterpolatmg
- polynomial passing. through n-points ?

Bt R iea mmwwqﬁ;
52k

G 2

(i) 2n

(i) <n

fiv) <n

3 (Sem-6/CBCS) MAT RE 1 /2/G 2

(d) Evaluate E2x2 when h 2.

- (e)

" when nis a. multlple of 3.7 %

3 (Setn-6/CBCS) MAT RE 1/2/G 3

h=2 T E2x2 [T

State True or False :

T mww@m?lwo

“Slmpson s —-rule is apphcable only

“fl\FW. W ﬁ-ﬁmi’a N‘%‘iﬂn(ﬂW@l
33 eﬁw =" o

In the Gaussian elimination ‘method,
the resulting.co-efficient matrix for the

. linear system of -equations .is

transformed into .
Gaussian elimination ﬁﬁ IR IEe
51 TR (T B9l (Teem @ﬁtﬁ‘m’oﬁa

R IR
(i) lower triangular matrix

(i) upper triangular matrix .
(iii) diagonal matrix
T Ghee® |
(iv) None of the above
@oigq B8 T |
' (Choose the correct option)
( o w“@?zﬁf > Gferaa)
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j(a)

' . OPTION-A -
4 Numerical Analysis )
: Pa.per MAT—RE— 6016

. Answer the followmg questlons . 1x10=10
Express the followmg system of -

equétion in matrix form-:

wWwﬁwaﬁm @WW‘ |

AP T 8-

- 2x+3y- Sz 6x 3y+4z- -5,

(v)

S5x-y+1llz= 7

What is the 6th order dlfference of the

~ 5th degree polynomial ? . .
-mmwaﬁ%-wmwﬁim -

What is the degree of the mterpolatmg
polynomial passing through n-points ?

Bt R e mvﬂwwmﬁwﬁ

[S2Ck:
() 2
) 2n
(i) <n
(i) <n

3 (Sem-6/CBCS) MAT RE 12/ 2

&

- (e

Evaluate E2x2 when ‘h=2.

h=2 T E2x2 [fa =i

State -True or False :

wg ST S s

“Slmpson S - % -rule is apphcable only

" when n is a. multlple of 3.7 = .-

3 (Sem-6/CBCS) MAT RE 1/2/G 3

“Brooee 4 R eicaien i’amf%mnmm

-aeﬁ@?@l

In the Gaussian elimination method,
the resulting-co-efficient matrix for the

linear system of equations -is

transformed into .
Gaussian elimination ﬁﬁl IR IERCS
51 RS (56T ww cs?ta?w mazﬁtwﬁa

ol 2

‘(i) lower triangular matrix
fm R e
(i) upper triangular matrix.
(i) diagonal matrix
. |
(iv) None of the above

@sigq o1e T .
' (Choose the correct option)
(o7 @@?ZET > Eerad)
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{g) In trapezoidal rule, for £he interval

©,1),if h= 0-25, then what is the value
of n?

o, 1)%@63%3@’?{31@% ozsi’m‘

n-i"mﬁi? -

| (l’f) WhICh of the followmg methods is’ nOt .- “

used for Numerical integration ?

R
m?mﬁf&mwwmw

(i) Trapezmdal rule
- (ii) Simpson® s rule
fii) ‘Gauss iteration
(iv) Romberg Aintegration~
(Choose the correct option)
(% Gowh) A Gle)
() Fill in the blanks (I 33 ) :
f (x)=flx=h) = '
‘(i) erte the Lagrange’s interpolation .

Aformula passing through two points
(X0, fo) and (x;, £)).

(xo0, fo) W( ,
ot s o 23.@“ s

 3 (Sem46/CBCS) MATRE 1/2/¢ 4

2.

| .'.(c)

3(Seml6/cscisy MAT RE 1/2/G O

Answer the following questions :© 2x5=10

mﬁmmwwg

(a) Construct the forward differénce table
for the following data

WWWWWWWW
oxoe: 12 3 4
oy ;10 13 22 43

(b) Prove that @M TN Q) -
121-V
Find the 3¢ divided ciifference
of f(x)=x3-2x with arguments
2,4,9,10. |
f(x) B -2x TE, aﬂ*wzw 2,4,9, 1o-a
o g R R W Tedtl

(d) Write a short hote on-numerical
1ntegrat10n

WW‘SW@WMMl
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(g) In trapezmdal rule, for the interval

0, 1),if h= 0-25, then What is the value
of n?

(0, 1) SRS
n'-‘ﬂ"ﬂﬁﬁiv o

(W Which of the following methods is not .

used for Numerical ‘integration P

O, GINCO!
e ﬁf%mwwwamw

(i) | Trapezoidal rule

(@) Simpson’s rul_e:

(ii) - Gauss iteration

(iv) Romberg integration .

(Choose the correct option)
| - (om Beshy 6 GReay)
() Fill in the blanks (AT 573 95“1 ) -
F00) = flx= h)= .

.(1} ;A/rlte the Lagranges interpolation
ormula Passing through two points
(x0, o) and (xy, ;).

(xO’fb) W( ,
s o0 e e

3(Sem-6/CBCS) MAT RE 1/2/G 4

cf:f‘m’ﬁ&a@ h=025 T

2.

Answer the following questions :* 2x5=10
(a) Construct the forward dlfference table
for the following data

WWWMWWWW
X et 1 2 3 '4.
y : 10 13 22 43

(b) Prove that (EN I @) :.
o1V
() Find the 3% divided difference
- of f(x)=x3-2x with arguments
2 4,9, 10. o
’ f(x) Bo2x TE, aﬁﬁvm 2,4,9, 1o-a
it po Refee RS W St |
-(d) | Write a short »note on: numerical
“integration.

WWGW‘@WWMl

3(Sem‘-6/CBéS) MAT RE 1/2/G 5 - Contd.



o (e) What are the two types of methods for

ﬁndmg numerical solutions to ODE’?
ODE i = »ﬁﬁa TRYTIRE oﬁr— ﬁS?

: _'An_swerr any four questlons D _5><4=20

"(d) Given %xy-‘—xﬂl w1th y 0 for x= 0

- Fmd the value of y at x=1 takmg
‘h= 02 _ ,

"ﬁmw £l—"i—xﬂ“y zr’sy omﬁm -
x=0. h= oztay-am%ﬁwmx 1. '

o (a) Show that (Cﬁﬂ\%f (31)

{f(x)] g(x): AF(0)=F(%): Ag(x)
g(x) - g(x) E(g(x» ’

(e) Fmd j usmg Sunpsons 3 rule.

- -'Waﬁﬁwﬁj“_x ‘SIF{._

(b) Use Gauss-Jordan method to solve :
Gauss-Jordan #&(® W ?P'ﬁ AN SO

2x—3y—5z=—5, xfy+2z=4,

et T

‘(ﬂ Cons1der the pomts (xo: Yo) = ( 2),
C(mw)=(2 4), (%2, 42) = (3 8),

(x5, y3) =(4,16) (% 3)=(5 32)
f'(3) using Newton’s .

3x+y-3z= -4

(c) Find the equation of the polynomial
passing through the points (4,-43),
(7, 83), (9,327) and (12, 1053) using

Newton’s divided difference formula. . ;Estxmate f (xz)

d, packward and centralA

Ao Reiftrs ©ee a0l 9T IR | forwar 1
ARG | o
(4, ...43), (7, 83), (9’ 327) IE (12, 1053) | _ dlffCI'CI’lCC formu
- RO Mwrd IR Fe Qi Sl contd.

1. 3(sem-6/CBCS) MAT RE 216 7
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o (e) What are the two types of methods for

ﬁndmg numerical solutioris to ODE?
ODE i ol @ﬁa WW sﬁ% ﬁw

. V'Answer any four queStion's :

; . Rewica i, era S o s

o (a) Show that (mﬂ\'@t m)

{ (x)] (x) AF(x)=F(x) Ag(x)
g(x) g(x) E(g(X)) ‘

(b) Use Gauss-Jordan method to solve :

Gauss-Jordan & W ﬁsﬁ AN W H

2x-3Yy-5z=-5,x+ty+2z=4,
3x+y'f_32 =-4

(c) Find the equation of the polynomial

passing through the points (4,-43),

(7, 83), (9,327) and (12, 1053) using

| Newton’s divided difference formula.

(4,-43), (7,83), (9,327) W% (12, 1053)

' sxa=20

" (d) Given Wo_xry with y=0 for?x=‘o'j

dx
3 Flnd the value of y at x=1 takmg
“h=0" 2 ' : .

“"ﬁmm dy-x+y zr’tsy 0 czrf%m-- a
x=0. h= ozt‘ary-aaﬁ@ﬁearmﬁmx 1.

1 rule

(e)' Find I usmg Sunpsons
. o Lo R R [T
. §ﬁ3 o ° 1+x2‘ -
et T |

’(f) Con31der the ‘points’ (xo, Yo)= (1 2)
(e w)=(24), (2 1)=(3,8),
(3, y3) = (4 16), (%s, 4s)=(5, 32)

. ‘Estimate f'(%)= r (3) using Newtons o
forward,v packward and central -

difference formula.

- RTR e (@RI I2em QAT Sfeet! | - -Cm
- 3 (Sem-6/CBCS) MAT RE 1/2/G- 7 | ntd.

- 3(Sem-6/CBCS) MAT RE 1/2/G 6



(%0 90)=(1,2)," (4, 1) = (2:4),
(e w)=(3,8), (x,%)=(4,16),
.'-'(x4,y4) (5, 32) . o Ry o1
F()= 1/(3) e R s,

Po51ea o @@ﬂwa@ﬁﬂw@ﬁwl -

. Answer .any, four questions :

Rt SifRbr e O fra ¢

. (@) Derive ‘Newton-Grégory:,'backward'

difference interpolation formula. Use it
'to obtain an interpolating polynomial
from the following data : 5+5=10

BB o) s e e 11

.Wwﬁ—cﬁwmww
.awrw@%earﬁ )

f('x)":‘ 8 11 20 41

3 (Sem-6/CBCS) MAT RE 1/2/¢ 8

10x4=40 -

Cx
v 0:135 .»'—

y

~

©

3 (Sem-6/CBCS) MAT RE 1/2/G 9

Obtain the missing values of the

table given below : * _
woTe i e AT 9% 9T 3 ¢
. 2.0. 21 2.2 2.3 2.4 2.5 2.6
© 0-1110-100 - 0-082 0-074

(ii} If f(x) be a polynomlal of degree

n, then prove that
~ A*f(x)=constant",
_and AMLf(x)=0.
R © 5+5=10
- flx) ) b 9759 el AR T e
@ .A"f(x)= & A A (x)=0.

Solve by Gauss -Seidel method correct
to 4- decnmal place :

m@smﬂﬁ%wﬁWWW4

- oS o QA ¢

‘28x+4y—z=: 32
x+3y+102 = 24
2x+17y+42 =35

. Contd.




‘ ’;(xo» Y )= L 2), (‘xl,"yl") = (2:'.‘})“;

4. Answer .any, four questions :

(%2, Y2) ?4(3:'8)> (x3; Ys)= (4: i-6)»

(s y4)=(5 32). <% Ry *RI

,f(xz) S)awﬁ??mwasﬁ

PeoleaS i @@QWWWWW -

. (a)

Derive Newton-Gregory: ‘backward -

difference interpolation formula. Use it
‘to obtain an interpolating polynomial
from the following data : 5+5=10

D20 P51 TG B et .

.Wwaﬁ—cﬁwmww

. I 6%{@ g

f'(x);:' 8 11 20 41

3 (Sem-6/CBCS)MAT RE 1/2/¢ 8

10x4=40 -

Cx
Yy

(i) = Obtain the missing values of the

(b)
‘ table given below : .
2.0 2.1 2.2 2.3 2.4 2.5 2.6
: 0:185 . - 0:1110:100 -  0-082 0-074

~

(C)

(ii) If f (x) be a polynomlal of degree :
n, then prove that .

- A"f(x)= constant ",

_and AV (x)=0. |
R © 5+5=10
" F(x) @Bt n-i5e AT A T
@ A"f(x)= §7F S AL f(x)=0.

Solve by Gauss -Seidel method correct
to 4- demmal place :

m%smmﬂa%wasﬁmmaWax

- i oF T ¢

3 (Sem-6/CBCS) MAT RE 1/2/G - 9

28x+4y‘—z=‘ 32

~-2x+17y‘+4z =35

. Contd.



@

. %»mm@rmmﬁﬁmaﬁ [
. ﬁcﬁmn |

(e)

10

Evaluate j——- by usmg Slmpson S

| rule and. trapezmdal rule.

Apply modified Eulers method to

~evaluate y ‘when x=0- 05 and x= O 10 .

. for d%x.=x+y, (0)=1.

. x=0-05 ¥%¥ x=0-10 ® modified Euler 3

.ﬁﬁemefﬁ dydx =x+Y, Y(0)=13I®

y-3 WA ey =

Write a short note on midpoint’method.

Why is it superior to Euler’s method ? -

Use.midpoint method to solve

. |
L=y =12y, 4(0) =1,

dx -

for 0<x<9. - 2+2+6=10

3 (Sem-6/CBCS) MAT RE 1/2/G 10

1+x‘_

(g)

" Marks

LN

Midpoint ﬁf‘« BB aﬁt sa cTa‘m e
% Euler-3 Rfi¥ets Ry @ﬂ@? Midpoint ‘%TF‘

IR IR NG JA

dy -
v yx2 1- 2y; y(O) 1

0 <x< 23 W !
(z) From the followmg table find the

number of students who obtamed :
marks less. than 45

WWWWW%'W" |
| &Y (IR QRN IR FefE s
. 30-40 40-50 50-60 60-70 70-80

No. of students : 31 42 51 35 31

m‘i@? ﬂ\?m

3 (Sem-6/CBCS) MAT RE 1/2/¢ 1.1

(u) A third degl‘ee polynomlal passes -
' thirough the points. (3,3), (2,12),

" (1,15) and (-1, —21) Find the
ol omxal ‘
pou® | 5+5—1o .

<1 FamfEe TW avﬁ (3,3), (2, 12),
(1 15)@1@(-1 —21)ﬁi@iﬁﬁm -

*

. Contd.



@

| ‘Mw@f‘mﬁﬁﬁw?ﬁj
| "ﬁfﬁ@tl o

(e)

10,

Evaluate I——x by usmg Sxmpson s

| rule and trapezo1da1 rule

Apply modified Eulers method to

-evaluate y when x= 005 and x= 0 10 .

for d%x:xw; y(0)=1."

. x=0-05 9% x=0-10 ® modified Euler ¥
) : - d ) ) . . .
R e R %x=x+y, y(0)= 137

y-3 WM T =)

Write a short note on midpoint'method.

Why is it superior to Euler’s method ? -

Use.midpoint method to solve

2yt < 12y;(0) =1,

dx

for 0<x<9. . 2+2+6=10

3 (Sem-6/CBCS) MAT RE 1/2/G 10

1+x~.

Midpoint ﬁfi\ﬁ @9!3_ B Bq c‘ﬁﬁsr &y

‘R Euler-3 ﬁfﬁ%ﬁw@a@? Midpoint wﬁs '

IR FR 04 3]0

dy .
I yx2 12y,y(0) 1

(g)

" Marks

T

O<x<232ﬂ'@l

(' ) From the followmg table ﬁnd the :
number of students Who obtamed '
marks less than 45

wTe Ta = @Iﬁeﬁm R 45 TR
| O (IR QIR R el v s
: 30-40 40-50 50-60 60-70 70-80

No. of students : 31 42 51 35 31

PR ﬂem

3 (Sem-6/CBCS) MAT RE 1/2/0 1.1

(u) A third degree polynom1al passes -
through the points. (3,3), (2,12), -
" (1,15) and (-1, —21) Find the
ol nomlal -
'p ’ A 5+5 10 .
m@aﬁﬁwaﬁ(s 3), (2, 12),
(1, 15} 9% (-1, - 21) FEepR I
m|waﬁm ﬁ‘ﬁﬂl

. Contd,



(h) Obtaln a general quadrature formula._ o Y : ‘ OP_TI.ON-B: .
‘ v (Programming in C)
\ B Paper : MAT-RE-6026
Hence deduce Srmpson S 3' rule ' - . 1 | ' 'Answer the followmg questrons : i3<7=7.
9+5=10 Tmm@mﬁm
| I f(x)axa e o of Rovrw wfr - (@) Define nibble and byte.
(quadrature) 513'6‘31 ‘?&'f\‘ﬂfl S ‘ ‘ ﬁaﬁ I$ ﬁ W\'@iﬁl@ W |~ . .
- “Q’zna wﬁn%—qq mﬁ‘ﬁWI | N o (b) Convert the followmg into a C
. - - | expresswn :
ﬁﬁ%ﬁw PoRe W%arﬁa FoIRRE 9T 2
" a+b ' -
c+d

(c) Write one relational operator in C
language '

C ©re G5l TR W'PHKTN Brat|

{d) Whé.t is .the purpose 6f_ a comma
- » " operator in C?

@WW"W@@W%‘?

3 (Sem-6/CBCS) MAT RE 1/2/G 1o |  3(sem-6/cBes AT RE /2O 13 o Contd




(h) Obtaln a general quadrature formula' ‘

for- jf(x)dx

Hence “deduce’ Simf)soh"s -:1; rule.
- .5+5é10

‘ff(x)dxé.a‘m st 2o Roters B
(quadrature) 3131’63‘[ @ﬁi\‘iﬁtl
?Nﬁ' ]l fﬁ'evm ’i@fﬁ‘l e 11

3 (Sem-6/CBCS) MAT RE 1/2/G 12

T e -

" OPTION-B
(Programming in C ) .
Paper : MAT-RE-6026
1. A.Answer the followmg questlons : 1%7=7.

(@) - Deﬁne nibble and byte.
| ﬁaﬁ oI 3133.712@11'?33 Sai i

(b Convert the followmg into a C
expression : :

.ﬁﬁ%ﬂ?dﬁcwf\mx%iﬁiﬁmm

'_ a+b : . V R
c+d

(c) .Write. one} relational operator in C
language '
C Site &5, TR wvn@%a fra

(d) What is.the purpose 6f a comma
' operator in C? '
c-o AR %m 53

3 (Sem-6/CBCS) MAT RE 1/2/6 13 - Contd.




(e) Determme the value of the followmg
log1ca1 expressxon for a=5, b=10,
c——6

a=5, b= 10, c-'-6-aalz_aﬁ'.iﬁ1%*

' .q%ﬂ\srwﬁw%wmﬁ@w: e

b>c&&c<0 i |a.>0
m -,W.hat is: _the use 'Of-‘ “\.n"’ ?
“\n”-3 & aﬂm o
(g) What is tﬁ_e significance 'ef ‘%e ?
: Yoc T SITE fere
'.2.‘ Answer the folloWing euestio‘ns : 2X4=8

(@) Write a C program to find the sum of.

three given numbers

ﬁﬁhmﬂ\zﬂﬁmﬂzﬁaﬁsﬁ@aaﬁcmﬁr
ﬁmm

3 (Sem~6/CBCS) MAT RE 1/2/G - 14

)

o

‘What are librery functidns ? Mention |

any four hbrary functlons

TR WG Rt A S aﬁ@a |
'W\WWWI

. Explam w1th examples the syntax of
scanf () and pnntf ()

scanf() menﬁ()-ﬁ%ﬁﬂ}i’{w«

| v-’tﬂrwwn

@

What is the output. for the followmg g

. program?

—mzﬁmﬁ»‘ﬁ W@B?N ﬁmﬂ?

mam()
{
intx=5;" o ' N
‘while (x==1) |
x—x-—l'

 prinf%d\n”, X
' )

3 (Sem-6/CBCS) MAT RE 1/2/G 15 - - Contd.



(e)

Determme the value of the followmg
loglcal expresswn for a=35, b= 10,

- ,m\erﬁWW° L |

a= 5 b=10, c--6-amﬁﬁf%iﬁ@

b>c&&c<0 ! 'a>o

What is. the use of “\n”" '

- \n-T o I

‘What is the significance of %e ?

%c 9 OleA ﬁi?

Answer the following questions : 2><4=8

@

Write a C program to find the sum of

three given numbers

Pﬁmmw\wmﬂwﬁmﬁﬁmﬁcmm
-

em-6/CBCS) MAT RE 1/2/G - 14

(b)

What are hbrary funetlons ? Mentxon |
any four library - functionis. . =

R TR o A aﬁ@% |
TG TER I

. Explam W1th examples the syntax of -
scanf () and pnntf ( ). '

scanf() W pnntf()-?aﬁslﬁﬂ]iﬂ Wﬂ? |

| »-’tﬂwww' .

@

What is the output for the followmg g

. program?

—Fﬁ‘«ﬁ"ﬁ?@ﬁ W@%‘?N ﬁWH?

maln()

[ o
intx=5;‘ o o ' o
while(x==1) -
o x=x-1; ‘
o\

. .

3 (Sem-6/CBCS) MAT RE 1/2/6 15~~~ Contd.



3. Answer any three questioris:: 5%3=15
ﬁm‘mf Fﬁ?f o B ﬁm |

(a) ‘Write a C program to generate and pnnt

®)

(c) -

(d)

“pumbers between 100 -and 200 that ‘
" are divisible by 2 but not by 3.

1100 Wzooamwmﬁmﬂﬁ%aﬁw .
a5t C ﬁtﬁﬂﬁ%ﬁ'@ﬁizcﬁﬁmmﬁ%

3@2’4'-1?@1\

Wwrite a C program to d1splay the ASCH
value of a given character
5t &@ S ASCIL 7 e IR <ot C

o e
Write a C program to fird the biggest

of given two numbers.

o7 Wl ﬂ\nmfeﬁwmmw\w |

ﬁaﬁeﬁmaimﬁcamﬁm

Write a C prograim to find the factorial

of a given integer k.

45 ame AR k-4 iR R, <ot

¢ e

" (Sem~6/CBCS) MAT RE 1/2/G 16

e, W ‘
( ) - Write a C program to compute the value

.- Answer any ~threep.question’s :

'of 7 from the followmg- series :

e “I«l?ﬂa 9 73 AN ﬁww <5t
. mfmr ¢

=1= _1,_ +
5

'\IIH

l
3

EN

10*3:30 .

(a)- Write a C program to find the arithmeti

)

mean and variance of any‘n valu
es.

. ﬁ@m n W e ‘,1@ oI Varlance
: ﬁﬂﬁﬁ?ﬂ&ﬂﬁC ﬁm%‘zm

Wnte aC program to find the trace of
a glven square matrix of order m x m.

- mx mmmmaﬁmﬁm @sm |

ﬂﬁcamﬁmﬂ

3 (Sem-6/CBCS) MAT RE 1/2/6 17 + Contd



' 3. Answer any three questions: : =5>é3= 15
ﬁmm Fﬁ:‘f o Bl ﬁ-zn |

(a) ‘Write a C program to generate and prmt

®)

(c) -

'numbers between 100 -and 200 that '
" are divisible by 2 but not by 3.

Write a C program to display the ASCII
value -of a given character._

<51 2@ T4 ASCIT T el R Bt C
oa B '

Write a C program to find the biggest

of given two numbers.

W@ﬁiﬂﬁf’\s‘ﬁ@m@wﬂ\ﬂ}m |

ﬁmﬁeﬁwﬂmc s ol |

Write a C prograr to find the factorial

e W
( ) - Write a C program to compute the value'

. Answer any 'th.reev_questiens :

‘of 7 from the followmg- series :
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(a) Wnte a C program to ﬁnd the anthrn ti
etic -

®)

mean and variance of any n valu
€s.
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Wnte aC program to find the trace of
a given square matrix of order m x m.

(d) ' |
of a given integer K. ‘ mxmwaﬁmaﬁm@m @Sﬁwﬁa?a
aﬁchﬁ\ﬂﬁkammﬁﬂﬁﬁ?ﬂnﬂﬁ i ¢ e
- C oram forn o | |
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o of {rowels present in a sentence.
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Wi'ite a C program to count the nu_mber

'a'czmﬁmn

@

| (é}

B R B o AR T SRR <

Write a program 1n C to read a matnx

"~ of order mxn and pnnt the sum of all' -

elements using functions.
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'ﬁﬁmﬁm @wfﬁ%asﬁaiac-@.

5t e B

Write a C program to sort a set of n
‘numbers in ascending order and '

| expiaih the algofitl‘qm. used.

C 2ire fa7al wiis 9@ algorithm I 1 |
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(f) Write a C program to convert a demmal' '

number into its e ,
ulvalent bina
number. 9 ry :

’ﬂﬁmﬁemwmwmww
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Wnte a C program to count the number

. of vowels present in a sentence

Write a program in C to read 2 matrix

- of order- mx n and prlnt the sum ofall -

elements using functions.
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Write a C program to sort a set of n
‘numbers in ascending order and

| exp'lai.n'the algoritnm' used.
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Write a C program to convert a decimal’ ‘

number into its equlvalent bmary -

number.
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